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8. The tastival of Lord Rama conquenmni
Havan Is called a5
(A} Pongal
(C) Balsakhi

(B8) Bishu
(D) Dussehra
Bhagavad Geela has dialogues belweern
Lord Krishna and
(A} Kama

(C) Nakula

38.

(B) =urya
(D) Aruna

The type of mirror used as shaving
mirrors Is
(A) Convex mirror

(By Concave mirror

(C} Cylindrical mirror

(D) Plano - convex mirror
41. Which of the following diseases is caused
by Salmonella bacteria 7

(&) Cholera

(B) Japanese encephalitis

(C) Typhold

(D) Hepatitis

The festival of lights (s

(A) Ganesh Chaturthi

(B) Diwall

IC) Dussehra

(D) Baisakhi

40.

42

'l'h-e equations x + 3y = 5 and 2x - by =10
represent the same line, ifth=

(A) &
) -8

(B) -5
(D) None of thesg
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24. The first manifesio of Urdu poatry wils
writlen oy
[A) Altal Haai Hussain (B) Amir Khusro
(C) Umrao Jan (D) Allabaksh
ag. |['EYE canbe soded as 35, then 'OFF can
he coded as
(A) 80 (B) 11
(c) 27 (D) 36
26, Banabhatta wroie
(A) Sur Sagar
(B) Bhagavad Geela
(C) Geetha Ramayan
(D) Harshacharita
o7. If* means ', 'x Means'+,’= means +
and '+ means =, hen 16X 2+4 +7 - 8=
(A) 31 (B) .EEE'
43
€ =7 (B} Mone ol these

8. Which of the following rivers is nota right
hank tributary of Ganga river 7
(A} Chambal (B) Son
(Cy Sindhu (D) Kosl

28. Which of the following rightly stands for the
word ‘Ethics' ?
(A) Moral principles that influence a
person's behaviour
B t:_.nnn-ernad with the principles of
. fight and wrong behavigur
1&) The way in which one acts or

mnd-u:‘ts one
olhers se, Especially lowards

0. Two coins are lossed

Probability of Seti o
Ay 4 eogexacty

() 18 o
Q }5 (D) %.
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12. The Legistativa Assembly of Haryana
passed the Haryana Municipal
(Amendment) gill on
(A) 7 August 2014
(B) 287 February 2017
(C) 18" December 2015
(D) 31" March 2018

13. Select the correct pair from the following :

1. Salal hydroelectric - Jammu and

project Kashmir

2. Parambikulam ~ Tamil Nadu
r@senvoir

(A) 1only

(8) 2only

(C): Both 1 and 2
(D) None of the above

14. Rewarl, Mahendragarh and Gurgaon are
rich in

(A) Tin

(B) Dolomite
(C) Slale

(D) Feldspar

15.  Baking powder is a mixture of baking soda

and a mild edible acid such as

(A) Acetic acid

(B) Benzoic acid

(C) Hydrochloric acid

(D) Tartaric acid
16. There are
Haryana,
(A) 7

(C) 5

lakes in the slate of

14,

15.
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(B) 2B wratll 2017 18, ?::m
(C) 10 fAeat 2015 2
(D) 31%T€ 2016 2
fer=rferfiam 7 2 w1 77 9fm . | %
' Hﬁiﬁﬁw i ﬁq‘m"ﬁ 19. Whi
t:frmm-n g
o H&ml (8)
(A) e 1 -
(B) FFs 2
(C) 1.3 2==] )
(D) Eﬁﬁﬁﬁqﬁ 28 g’:
E 3
(A) ﬁI:l Erre s
(8) é’m 4 21. ,:E
(s the
(D) “ezwam ,.i.:
%ﬁmﬁﬁfaﬂtﬁﬁgmml <
22. N
d
=l :
[D.:' Elﬁﬁﬁm1 ]n'.hl';.,, | |
|




QR e [RQIRL

7. A number Consisis
gum is-3, it a js addad to the

st inlarchangsad

ol twa digits and
whota
~umber, the digits o
Then the number |5
(B) 21

(A) 12

(C) 30 (D) None of these
B. : s an amphoteric oxide

(A) ALD, (B) Cul

(C) Fe,0, Dy Cro,

5. Read the loliowing statements regarding
Sahara desen

It iz sprawled ovar nine countngs

i lts area is more than hwo Hmes
larger than whole Ingia.

Select the right answer from given below -
(A) (i) only

{ii) only

() Both (i) and (i) are right

{D) None of the above

(B)

10. Bhagavad Geeta 15 n the
Chapter of M ahabharala.
(A) Sixteenin (B) Seventeetn

(C) Eighteenth (D) Nineteanth
11, Supreme Court of India In its recent
historical judgement on Aadhaar CGard
Vs Privacy threat, it has been held that
linking Aadhaar Card mandatory, excepl
1. School admissions
2 For PAHAL Yojana
3. NEET, JEE, UGC and CBSE exams
4. Corporate authentication
Salect the right answer from given below .
(A) 1and3only
(B) S only
(C) 1,2and3

7. U T vl 0o b P et
[] -, T 1

9.

(D) 1,3and4

10.

Al2o1g (1) (M11)
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e e
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(A) 12 & 24 '

(Cy 30 ) T 1 ok =
o 3V avbaemee B

(A) ALO, (B), Cub

(C) Fe.0, By CrO,
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18. Global Investors’ Summil took place. on

(AY 26" January 2011
(B) 127 Decomber 2014
(G} 8" March 2018

(D) 10" April 2017

18.  Which of the following lorm an AP 7

(AY 1,1,2,2/3.3 .
(BY 0.2,0.33, 0333, ..
() -1.1.1 ¥

2 4 8

I.'-:I-' xd.qlﬁx:-ﬁ

20. Find the missing number (7} in the
follopnifig: sequentce
2,510,117, 7, 37
(A) 20 (B) 2B
(C) 25 (D) 16

21. . Aladder 17 mlong, reachas a window ol
a bullding 15 m above the ground. What 13
the distance of tha foot of the laddar from
the wall ?

(A) 8cm (B] Bcm

(C) 2cm {O) 4com
22, Manganese is found Inthe

disirict of Haryana.

(A) Hissar

(B) Mahendragarn

(C) Kamai

(D) Gurgaon

23 Which of the following is not an example
for macro-ecanomic constituents 7
(A) Making of Budget
(B) Regulation of Monetary Policy
(C) Policy for bringing change in
Balance of Payment (BOP)

(D) None of the above

23.
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DY 10 %% 2017
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(A 1, 1.2.2:9.3
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2 5 10, 17,7, 37 'f,«f”
(A} 20 (B} 28
i E-_— 1 "I'- II'.“"Ill
2 ; s _ _'-r‘ E -'.'t-.-la--'—-. '
=1, W 17 Hr, &= O, 9UEE | 15 HlL SE g
mmﬂfrﬁﬁﬁ?&mrmw&ﬁ* e
i T A TR R Y
(A) 8H . (By BH.T.
(C) 2%, Dy 48/,
90, Wrfmefmon®w __ fwmETm

T 2|

(Ay Temm

(B) WEHTY

(C) FATE -
(D) TEa :
Forrfeafia o & 9 - e -0 92 =
FETeT A R 7

(A) T FATI

(B) HfEe Hifa = Fram

(C) M T § ufada i A

(D) I A w7




it

4/2018 (1) (M11)

I Ir th JI.-I.glll'l'_.l:' .!:'I:ll.'.,til,.'.!."' ”'I.'- [':I::I Mile -'ﬂlr1 I:'
1 = ¥ =
E".."I'{II E;'::,,;_ r: o '.II'\-||:"..:-'\. ”"I‘_ﬂ"l- '-.-'.-:|||\||:_--.,. |--||' W ..II
- ul difg

(A) 4,0 (8)

(C) 2,3 (OF 1,

2. A man when asked, how Many heng and
buffaloes he has, told that his anjm als have

120 eyes and 180 legs. Howm
has 7

5 (B) B0

3. The solution of system of equations
X+y=a-bandax-by=a*+b2gms

(A) x=a,y=b (B3] % =

(C) x=—a,y=b

4. Haryana government launched

families.

(A) Bhagya Jyothi
(B} Anna Bhagya
\S) Beti Padhao

{L) Tirtha Darshana

< B. Thesectionof Himalayas, Specially attractag

10 the British colonial administ

subsequently, some of the im ;
stations such as Dharamshala, ﬂﬂﬁanr o

Shimla, Kausani and
loWwns and health resors g
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50 F::”.I-'-rru‘.ﬂh.l.-l (B) Thaneshwar
o) Kamal (D) Hathnl
i

[ ad b - re ol oY Iynormial

5T o(x) = —2x* + ax'+ 5k then value of k is
(a) # (8) =5
(c) 54 (o) -1
| 4
52, Hiuen Tsang is a __ Iraveiller
f(A) English (B) Homan
(C) Chinese (D) Portuguese

Croad Ll e ___is essential for the
gynthesis of thyroxin.
(A) Potassium

{C) - Calcum

(B) Sodium
(D) lodine

54. Sahibl river is also called as
(A) Drishadwati {(B) Kumudwall

(C) Cauveri (D) Jagadadri

55. |ncomputers ‘'CMOS’ stands for

(A) Computer monitoring operating
sysiem

(B) ‘Complementary Metal Oxide
Semiconductor

(C) Complementary Metal Operating
Semiconductor

(D) Commonly maintaining Operating
System

56. Which of the following movements is known

as Leaderiess Movement/Protest ¥
(A) Simon Go Back Protest

(B) Individual Sathyagraha

(C) Quit India Movement

(D) - Swadeshi Mmremant %‘f

Bl
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€) 54 (B):= © A
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: A R 58. 11144
(A} Ul (®) ﬁnrr.q PEEATLRIC
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vl % BRIl 3 (e (C)
.  SITERAE B 59, Semt
(Ay TrRfiTE (B) Hifewm R
(c) HfearEd (D) AHEER ()
SULAUREURY NI g0, Five
(A) FETEA] (B) FHaA con
(C) FTar] (D) FET= cut
. | (A
FH H ‘CMOS’ 1 Taersl & (c
(A) eI Hitaei siqifen fawen B1. |t
1

(B) Fheefied ew siawss Afdem |
(C) Fir=imel Hem AT Afterem
(D) =iHAel Hefim Sioifn ey
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(A) HTEHH T = Ty
(B) dufFa: weamre
(C) TS BIE e
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44. Which of the I‘{hl.'.u'.-.rr'ng calls have 4, Mﬁhﬂ & . 4&&15 (1) (M11)
h.:fmv?ir'n; IE;IrI.:;HIT: :31:415 o i:ir T eironfirs
{ % : (A) w2y
(B) Red Blood Cells (8) Wﬂ*‘;ﬂﬁw
(C) Flatelets (C) ':'FF"'_IE e
(D) None of the above (D) T9 & 4t
3w
45, il:i::::;haw_ number of chambers | 45, ﬂ:‘}‘wr—‘mu m i ek
ir hear (A) =% &
(A} Many (B) 4 © 2 ) 4
(C) 2 (D) 3 D) 3
46. The crops which are sown at the 46. I8 wHe =) A H a3 g H'Ta i
commencement of rains in June and ST B a2 T e A e B
harvested by November month.are FEEATA 2|
called as _ﬂ "I?_ T ]
(A) Baisakhi (B) Bitl (A) =T (B)  fare
(C) Kharif (D) Summer (C) wirs (D) =T
47. Consider the following statements with 47. A eHTaE 9w oo & 324 F N H
reference 1o the evolution of political party Frffigs Tt .
system in India and choose the incorrec! T el frem e ot o
option. ferne gy
(A) The fourth union general election F4m .
" ledto the beginning of the politics of ) =4 STH A = TR MR
coalltion. ﬁr T = e 1 wd |
(B) During 195{Js|. tilm emergence of 1h|e (B) 1960 ﬁg"[nqqn fﬁf&fﬁ'ﬂﬁiﬁﬁmﬁ
new political classes was directly .
related to the rise of the proprietary m?:[ V0 R % g 3§ i
peasant class In rural India In the LILG| qli?iﬁi%ﬂﬂaﬁ‘ﬁm‘ﬂm I.
backdrop of the land reforms. (C) TEEER A U J et = TR
(C) The politics of alllance has led to the Eanll
polarisation of parties. . :
(D) At presant coalition or alllance form of (D) =R H s ol firm et 3 .
parties have narrowed lt{'lﬂ process SfereAHTeRs: Tefoe T o =eE
of elections and competitive politica s
space. &t siferan =) wfoa a R &)
48. Find the word which Is different from the | 48, a8 ee i =t = firferfias fm o =
other 3 options given below. CICICE Tor e | firsy 2
(A) Tiger (B) Lion (A) =™ (B) I
(C) Cat (D) Zebra (C) Tereedt lD} ﬁm
49. Age of a father is 3 times that of his son. | 4g. t{mﬁrm H &1 9 1
2 years later, he will be two and half times as ;%‘[ @
0ld as his son. How old s his son now ? ﬂ"ﬂﬁlm I m mwﬂ‘%ﬂ
:g} 15 years (B) 10 years (A) 15 =0 (B) 1073
] : i K
) 12¥ years {D‘] None of thE‘SE {C} ?!Eléa'é:,a; {D] ?ﬂ-ﬁ‘gﬁqﬁ
‘1._)_«- 'raﬂ' 6 -8- ,L_ Q
S _ 2 750
)T 2 f e a5
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Fill in the blanks with appropriate articles if

qecessary -

1.

T2

Fill in the blanks with appmpriale pre

73

ifl g1 T
f English Language :

n005Ee the corract optlons ¢

she reminded _ _the papers,
(A} where | had to leave

(8) me wheare wlll | leave

(C) where lo leave

(D) me whera | had to leave

| am not tired enough to go to bed yet.
| wouldn't sleap If | 1o bed now
(A)
(8)
(C)
(D)

had gone
gone
would have gone

went

| don't watch __ {elevision very

AR0AS (1y a1 1)

Critlis
ol BN walering

100
Eralh oy baskeibay

(A} Excapt for
(B} Besiday
(C} Baesida
(0) Except

Choos
DOSetha correct form ol the yoaros -

[ 'mg;e.— _lelevision a loybul ) don't any
(A used to walch
(B) was watching
(C) waiched
(D) was used 1o walth
76. ___along time for the bus

(A) We must to wait

often.

(A) a

(B) the

(C) nol needed
(D) an

wWhoils_ — —- best player in your

team 7
(A} the
(B) an
(C) not needed

(D) a

She lives in Perth. She owns a house
the Swan River.

(A) al
(B) on
(C) -over
(D) in

positions

(B) Always we have o wai
() We have o wall always
(B} We always have 1o wail

Select the appropriate synonyms ol ine
underlined words :

of free gas for a year.
(A) wary

(B) mislead

(C) belittle

(D) strange

13-

The Article exculpated the mayor.

L]

—— —
(L

L1

T i

T7.
(A) steal
(B) pity
(C) acquit
(D) destroy
78. The carsalesman wried to beguiled an otier
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5f. IT3tRA = 4 than valua ol
|S8CA = COS ocA
VsecA + cosgon
A) ' = By =
(c) .1 (D) \'—31
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58, IF14x= 4 T od 15 g diviclesd |-.|.J_. Fi

" a
i, th R

remainder s

(&) 3 (8) 2
(C) O (D} MNone ol £
\'"llr L r =" 1 || "

=8, Sepoymutiny ook place in

[A)

i

L&

18947
1837

1857

(D) 1857

(B)

60,

Five resistors 202, 342, 4£1, 502 and B¢} are
connecled in series to V. batlery. 1he
current through 511 resislor is

(A) 3.33A (B] 0.3A
() T:2A (0] 120 A
If 8 of September was Sunday, when does
18" September fall 7
(A) Monday
(C) Tuesday

(B) Sunday
(D) Wednesday
e is the head of Gram
Panchayath.
(A) Chief Minister
(C) Sarpanch

(B) Commissioner
(D) Labour Officer

Haryanasends ______ membersto
Rajya Sabha, the upper house of the
Parliamenl.
(A) 2

(€) 4

(B) 3
(D) 5
If the perimeter of a semicircular

profractor is 108 cm, then the diameter of
the protractor is

(A) 54 cm
(C)y 24 cm

Jw

(B) 42cm
(D). 108¢cm
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99 Wi 20, 30, 40, sasiien = ey
ST < 19 S W 531 T 81 50w
H TEEE U8

(AY 3.33A (B) 03A

C) 1.2A (D} 120 A

t['f?: o T R a1 e TeEm S =
BT
(A) HHEW (B) REw
(C) HEEn (D) =aEm,
19 TG % e R
(B) THITAT
(D) #m i

o T
(C)

= b

GILE | | O - -\ - =t B s
e, TFIEH] S 2
(A) 2
(C) 4

1B) 3

(D) 5

Tfa s SRR =te i affis 108 . &,
A1 =12 =1 = 2
(A) 54 @A
(C) 24 H.w.

(B) 42 ®.Hi,
(D) 108 H.HI.
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